The 1 No Trump Structure – Part IV
D. Two Suited Hands:
Suppose partner opens a strong 1NT and you hold either:

♠ KQT75
♥ AQ852
♦ 6

♣ T4

or

♠ QT742
♥ KQT85
♦ 54

♣ 9

or
♠ A7

♥ 5

♦ KQT64
♣ KJ843
or
♠ 7

♥ 85

♦ QJ753
♣ QT862
Since we have efficiently handled all of our one suited hands with bids of 2NT or below, we can use an immediate jump to the 3 level to show two suited (5-5 or better) hands in either both majors or both minors.  The main reason that we would like to describe these hands with one bid, rather than two, is that when we have distributional hands, the opponents frequently will have them as well. Why give them room to pass information that could result in either them playing the hand, or finding the best defense? When partner opens 1NT, we employ the following:

3C:
A two suited hand with both minors of less than invitational strength


3D:
A two suited hand with both minors – Game Forcing


3H:
A two suited hand with both majors of invitational strength


3S:
A two suited hand with both majors – Game Forcing
Note that we don’t have a bid to show an invitational hand with both minors. In virtually all good systems, the accepted rule is that when you can only show two types of hands (of the three types, non-forcing, invitational, and forcing), that you give up the invitational bid. It’s more important to know what’s forcing and non-forcing. When Responder holds the invitational hand (and can’t show it), he makes his best guess and lives with his decision.

Opener’s Rebids after Responders Shows a Two Suited Hand:
Usually, Opener can leap directly to the best contract after a non-forcing or invitational call. When Responder bids 3C, Opener will pass or correct to 3D. Responder hasn’t asked you to evaluate your hand, and you must not bid any higher than the 3 level.  Similarly, when Responder bids 3H, Opener is extremely well-placed to either pass, or correct to 3S, 4H, or 4S. There is no slam – so Opener needs to check his major suit holdings along with his high card strength to determine the proper contract. Responder has turned captaincy over to Opener, so his bid will end the auction. When Responder makes a 3D or 3S forcing call, there is more to think about. Responder is unlimited, and Opener needs to keep this in mind. Any time there is a great fit, Opener shouldn’t hide it. Consider the hands when Responder starts with a game forcing 3D bid, showing both minors:
A.
♠ KQ75
♥ AKJ2
♦ Q6

♣ T64


B.
♠ Q84

♥ AQT7
♦ KQ4
♣ Q75
C.
♠ A74

♥ J85

♦ K96

♣ AQJ8
D.
♠ KT62
♥ AT4
♦ AJ

♣ AT75
Hand (A) is easy. With no particular fit and high cards in the unbid suits, Opener simply bids 3NT. Responder is still captain, and has the option to continue further if desired. With hand (B), Opener has a problem. 3NT runs the risk of the opponents running the Spade suit since he has no true spade stopper. This dilemma is solved by simply cue bidding 3H – which is a control showing bid. Opener either has a good fit for one of the minors, (with a heart control), or is implying weakness in the unbid suit (spades). Responder doesn’t know which hand his partner holds, but when in doubt should always assume the rule: “Game before Slam.” This rule states that a forcing bid by partner (unless there is direct evidence otherwise), is an attempt to get to the best game, not necessarily a slam. If opener is cue bidding because of a good minor suit fit, that will become evident soon enough. For now, Responder needs to bid on the assumption that Opener is denying a spade control. With a spade card, (assuming he is not strong enough to suggest slam on his own), Responder should simply bid 3NT. If Opener had bid 3H to show a big fit somewhere, he will show his slam interest by setting the trump suit now on the 4 level. Hand (C) is very similar to hand (B). Opener will cue bid 3 spades, implying weakness in hearts. Responder will bid 3NT with a heart control. When Responder can’t bid 3NT after a major suit cue bid, the partnership will look for game or slam in the minor suit instead of no trump. 
On the last hand (D), Opener has a huge hand for Responder. He has controls in EVERY suit, as well as a terrific fit for one of partner’s suits. He will not stop at 3NT, without making some kind of slam try. Note that when one partner or the other has great controls, the other usually will not. After all, there are only so many aces in the deck. The more controls you have, the more you should be prepared for partner to be unwilling to cooperate.  When you are looking at the cards that are necessary for slam, don’t ask partner if he has them. He doesn’t. Take control of the auction. On (D), Opener should bid 4C immediately, to right-side the contract (protecting his King of Spades). If his minor suit holdings were reversed, (so he can’t prevent his partner from being declarer in a diamond contract since he introduced the suit first) he would have started with 3H, and then raise diamonds later. Even though as Opener, you think you have a terrific hand for slam, Responder is the one who knows for sure if perhaps you shouldn’t be looking. Suppose Responder has some dead minimum (but still game forcing) hand such as:
♠ Q

♥ Q6

♦ QT974
♣ AT643

He hears partner either cue bid and/or raise the minor to show slam interest. Responder knows that slam with a maximum of 26 HCP is remote at best, and needs to slow partner down. For that reason, 4NT by RESPONDER here is natural, and to play. Opener should not move further. How does Opener know that 4NT is not Blackwood? When exploring for slam in a minor, the partnership should reserve the 4S bid as the ace-asking convention. This sounds confusing, but it’s necessary to be able to salvage your matchpoint score when one partner or the other has a hand that is really not interested. Even Opener can do it. Suppose he holds:




♠ KJ75
♥ KQJ4
♦ J6

♣ A93
Responder starts with 3D, showing a game forcing hand with the minors. Opener shows stops in both majors with no slam interest with 3NT. Responder now makes another try with 4C – showing considerable slam interest. Opener has about as bad a hand as might hold, and should bid 4NT – to play. This bid denies any useful controls and warns partner that
 his holdings are soft. Responder is not prohibited from bidding on. Once again, if Responder is looking at all the controls, he should anticipate that his partner will be uncooperative. Over the 4C slam try bid, if opener is looking at more promising values, he can cue a control, or even Blackwood the hand with 4S, if he holds say, both major suit aces. For those who play Key Card Blackwood, I recommend using a convention known as Six Key Card Blackwood, when one hand is known to hold 2 suits of 5 cards or longer. The Kings of both suits are treated as aces, and the steps are 0/3, 1/4, 2/5 without either queen, and 2/5 with at least one of the queens.  

These are some of the most complicated sequences you are likely to encounter in an auction that starts with 1NT. I’ve gone into far more detail than all but the most practiced partnerships are likely to have discussed. While it’s far from critical whether you elect to employ any or all of these treatments, the underlying foundation is what is most important to recognize. When partner uses a bid and you are unsure what it means, knowing what he would have done with other holdings – and didn’t – will often lead you to the correct conclusions.

Once you grasp the implications of the 3D bid, the 3S bid will have few surprises. Once again, we use the rule: “Game before Slam” and assume that game is all in which partner is interested. The vast majority of the time, Opener will bid 4H or 4S and Responder will either pass or make a move toward slam. On rare occasion, Opener will hold a hand that is so rich in controls (meaning that he knows that his partner’s hand is not) and contains such a good fit as well, that he simply cannot sign off in the major suit game without suggesting his slam interest to partner. Suppose you open 1NT holding:



♠ AQ75
♥ 97

♦ A63

♣ AK93
and partner bids 3S – showing a game going hand with both majors. Responder should not jump directly to 4S, his hand is much too good. He should imply his slam interest in one of the minors with a cue bid of 4C. Don’t expect Responder to cooperate, since you have nearly every control. Responder will almost certainly bid 4H – not knowing which suit you have. This is not necessarily a control. Opener can now conveniently bid 4S, and now he has told his partner that he has a spade fit, with great outside controls. Responder may judge to pass incorrectly, but Opener has at least done most all he can to try to get to a slam if there is one. Reverse Opener’s major suit holdings and the hand is even more awkward. Over 4C, expect partner to sign off at 4H, and Opener should make one move toward slam, probably with an ace-asking 4NT (Hearts is trumps). 
